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i Solve using the quadratic formula, then cross out the letter pair next to your answer. When o
rounding square roots or final solutions, round to the nearest hundredth. For each letter ;
g pair that you DON'T cross out, write the uppercase letter in the box with the lowercase letter. [
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When a driver needs to stop a car, the approximate
stopping distance d (in feet) is given by the formula:
d = 0.0502 + 2.2v, where v is the speed of the car (in
miles per hour). Suppose a car travels 200 feet before
stopping (d = 200). How fast was the car traveling?
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